View 1
Arrival time:
10:36:20.4405340000 (e.g 14.05.2007)

05/14/2007 10:36:20 AM

-> 941146 hours 36 Minutes and 20 Seconds from 01/01/1900 00:00:00

(midnight) 
941146 h * 3600 + 36 min * 60 + 20 s = 3388127780 s

0xC9F2BA24 Seconds in Hex.(32 bit Word (MSW)
Fraction of Second. 0.4405340000 s.

0.4405340000 s / 2^(-32) = 1892079123 = 0x70C6D613 -> LSW

0x C9F2BA24 70C6D613

The time in milliseconds

Arrival time = (3388127780 s + 0.440 s) * 1000 = 3388127780440 ms

View 2 Arrival time calculated as above but in the end a further calculation:
MSW      = 0xC9F2BA24

MSW(LSR) = MSW & 0x0000FFFF 

         = 0xC9F2BA24 & 0x0000FFFF = 0x0000BA24 (=47652 s)

LSW      = 0x70C6D613

LSW(LSR) = LSW & 0xFFFF0000

         = 0x70C6D613 & 0xFFFF0000 = 0x70C60000

because the LSW is saved as a time in 1^(-32)-tel Seconds Inkrements. You cannot multiply it with 1000 and get the milliseconds.
In C:
#include <stdlib.h>

#include <math.h>

#include <stdio.h>

int main(void)

{


unsigned long MSW = 0xC9F2BA24;


unsigned long LSW = 0x70C6D613;


double PDP;                     //post decimal positions


unsigned long TIM;

        //time in Milliseconds


MSW = (MSW & 0x0000FFFF);


LSW = (LSW & 0xFFFF0000) >> 16;


PDP = pow(2,-16) * (double)LSW;




TIM = MSW*1000 + (unsigned long)(PDP*1000.0);


printf("MSW: %u      LSW: %u      PDP: %f    TIM: %u", MSW, LSW, PDP,

TIM);


return 0;

}

The result is :  47652000 + 440.52 = 47652440 Millisekunden Arrival time

